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the graph ¢ hown below.
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Sketch 3 pu of 2 continuous function fthat has domain [-3, 3], wherd f{-1) = 1 3nd
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Sketch 3 possible graph of a continuous function f that has domain [-3, 3], where f{-1) =- 1 and
the graph of y = f{x} is shown below.
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p. 107 #27  Sketch the graph of a continuous function will‘* {0y=-1 Iand
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The graph of the function Elx]}is shown here is made of line segmients joined at each
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a. Graph the functions derivative.
b. At what values of x between x = -1 and x = 4 1s the function not

differentiable?
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